Math 2415 Homework Set 2 — Solutions 10 Points

4. (2 pts) This function is not continuous at (0,0) so let’s see if we can find a couple of paths that give
different values for the limit.
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So, we have two paths that give different values of the limit and so we know that  lim %
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doesn’t exist.
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11. (2 pts) Because we can do the integrals in any order we’ll do them in a different order than that
requested to make our life a little easier.
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Not Graded

1. This is the function we used in 12 from the first homework set so all we need use the work from the

)

last homework set and do the integral.
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2. Not much to do here. This function is continuous at (0,0)so: lim > > Y =|—
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3. This function is not continuous at (0,0) so let’s see if we can find a couple of paths that give different
values for the limit.
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So, we have two paths that give different values of the limit and so we know that  lim —
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doesn’t exist.
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8. First let’s find %

Ox
20z Oz
2zef —=— 4—x)— 2 4 —
ze = axtan( x)—zsec’ (4—x)
2 —
(tan(4—x)—2zezz)%225602(4—)6) = %: Z5¢ec (4 x) i
Ox ox tan(4—x)—22ez




Math 2415 Homework Set 2 — Solutions 10 Points

0z
Now —

y

3y’ +2ze %=@tan(4—x)
d Oy
2
3y2=(tan(4—x)—22ezz)%:> oz _ 3y i
9  tan(4-x)-2ze’
9.
szzx_3—; Zy:% %—;
1 o1
Zxx:—6x_4+? z, =0 z,=0 Z,=3Y 5+7
12. Order probably won’t matter much here so we’ll do the derivatives in the requested order.
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